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vold Assertion{char*, int, int):

vold Assertion{char*, int, int, int, int):

volid Assertion{char*, int, bocl, int, bool):;

vold Assertion{char*, int, int, int, int, int, int);

vold Assertion{char*, int, int, bocl, int*, int, int, bool, int*);
vold Assertion{char*, int*, bocol, int*, bocl):;

vold Assertion{char*, int*, beccl, bocl, int*, bocl, bocl);

vold Assertion{char*, int, int, int*, int, int, int#*):




Assertion()

void Assertion{char* id, int numl, int expectedl)

{

if [ muml == expectedl )
{
cout << id << " : Fass" << endl;
1
glae
{
cont << id <<€ " @ Fail"™ << endl:
1
1

void Assertion{char* id, int numl, int num?, int num3, int expectedl, int expected?, int expected3)

{
if { numl == expectedl =& numd == expected? £z num? == expectedl )

{
cout << id €< ™ @ Paszs" << endl:

}

glas

{
cout << 1d << " : Fail" << endl;

}




LockUnlockControl()

vold LockUnlockControl () wold LockUnlockControl(ints Triggered, int Input I)
i {
int Input = DeterminelLockUnlock(): int Input = Input I;
if {( Input = 0 ) if { Input == 0 )
{ {
UnlockInterface(): ITriggered = 0;
} }
else if ( Input == 1 ) else if { Input == 1 )
{ {
LockInterface(): Triggered = 1;
} }
! elae

{
Triggered = -1;

}




AlertControl()

vold AlertlControl()
{

int Input 1 = Determinedlert();

int Input 2 = PasswordIimeover();
if ( Input 1 =1 )
{
RBlertlInterface();
1
else 1f { Inmput 1 == 2 }
i
Blert2Interface()
1
glse 1f { Input 1 == 3 || Input 2 == 3 )
i
Blert3iInterface();
1

vold AlertControl (ints Triggered, int Input TI)

|
int Imput = Input I;

i1f { Input == 1 )

{
Triggered = 1;
1
glae 1if { Input == 2 )
{
Triggered = 2;
1
glae 1f { Input == 3)
{
Triggered = 3;
1
elae
{

Triggered = -1;
1



vold BacklightControl()

{

BacklightControl()

volid BacklightControl (inte Triggered, ints 3q_35,

{
int Input 1 = DetermineBacklight(}; int Input = Input I;
int Input 2 = BacklightOnPFW():
int Input 3 = BacklightOIffPFW(): if { Imnput == 0 )
{

if { Imput_ 1 = 0 || Input_ 3 == 1 } Triggered = 0;
[ for (int i = 0; 1 < 5; i++)

LightOffInterface() : {

InputData 5[i] = -1;
for (int i = 0; 1 < 57 i++) 1
I aq_3 = -1;
InputDatal[i] = -1; } o

] glae if { Input == 1 }
} { |
else if { Input 1 == 1 || Input_2 == 1) Zrlgg?ridf_l;_ 5. ies
I for (int i = 0; 1 HERE o

LightOnInterface () { InputData S[i] = -1:

for (int 1 = 07 1 < 37 1+4) ; g = _1-

{ ;- '

InputDatal[i] = -1; =1ge

} {
} Triggered = -1;
agq = -1; }

1

int* InputData 5, int Input I)



DeterminelLockUnlock()

/

int DeterminelockUnlock() vold DeterminelockUnlock({ints Returned, int Lock I, int Unlock I}
{ {
ClosedSensorOpened() s int Lock = Lock I;
ClosedSensorClosed() int Unlock = Unlock I:
int Lock 1 = ClosedSensorLock():
int Lock 2 = ManuallLockReceiwver(); if { Lock = 1 }
int Unlock 1 = EeyReceiver(): I
int Unlock_ 2 = NumberCheck(true); Beturned = 1;
1
if { Lock 1 == 1 || Lock 2 == 1) else if [ Unlock == 1 )
{ i
return 1: Eeturned = 0;
}
glse 1f ( Unlock 1 == 1 || Unlock 2 = 1 } ilSE
{ {
return 0; Eeturned = -1;
I }
gelse 1

{

return -1»

}
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PasswordTimeover()

int PasswordIimeover () vold PasswordIimeover (inte Returned, bool PowerStatus_I, bool AlarmPW I)

{ {

if { PowerStatus == falae ) if { PowerStatus I == false )
{ {
return -1; Beturned = -1;
1 }
if ( AlarmPW == true ) if ( AlarmPW I == true )}
{ {
return 3 Beturned = 3;
} }
glae glae
{ {
return -1: Beturned = -1;

}



int ClosedSenscorLock()

|
1f (AlarmC3S == true)

{

return 1:
}
elae
{

return -1:
1

ClosedSensorLock()

volid Closed3ensorLock(inte Returned, bool AlarmC3 I)

{
if (AlarmC3 I == true)

{

Beturned = 1
l
glae
{

BEeturned = -1;
}
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int MumberCheck{bcocl 1lu)
{

3tatic int result;
int #*Input = new int[4]:

if { lu == false )
{

return result;

}

MumkerBecord {sInput) »

if { Input == NULL ) O B0 g21=W -1 2|
{
result = -1;
return -1:
}
for (int i = 0; 1 < 4; i++)
{
if { Sawved[i] '= Input[i] )}

{
StartNB = -1; // EgE0E2 & WA
result = 2;
return 2;

}

StartNB = -1; // €082 UAE HA
result = 1;
return 1;

NumberCheck()

vold NumberCheck({ints Returned, int* Saved 5, boole TimerNB, int* Input T}

{
if ( Imput I == NULL } // =0 =0 -1 fH
{
Beturned = -1;
return;
}
for (int 1 = 07 1 < 47 i++4)
{
if { Saved 5[1i] !'= Imput I[1i] }
{
TimerNE = falaze: JOBEEQER ZEF A
BEeturned = 2:
return:
}
}
TimerNB = falsze: JUOEFEQ B2 ZEF J0Y
Beturned = 1;
1
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ClosedSensorOpened()

void ClosedSensorOpened () vold ClosedSensorOpened (bocle TimerCS, int Input I)
| {

if ( Closed3ensorReceiver() == 1 ) int Input = Input_I:
{

StartCs = -1; if { Input == 1 )

} {

Timerl5 = falze:

}
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ClosedSensorClosed()

vold ClosedSensorClosed() vold ClosedSensorClosed(boole TimerCS, int Input I)
{ {

if { ClosedSensorReceiver() == 0) int Input = Input I;

{

if { StartlCs == -1 ) if { Input == 1 )
| |
TIMER {TimerC5); // Timerl5S AP E &= Timerl3 = true;
! !
else !

i
StartC3 = clock():
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PasswordSetup()

int PasawordSetup() elase if ( Temp[2] == -1 ) // QAZZF HEIIZH| HISS
I I

static int Temp[4] = {-1, -1, -1, -1}: Temp[2] = Input;
return 1;
int Input = InputFilter({true, 3); 1
i = - oI MZDE R FE H=
if { Input »>= 0 && Input <= 9 ) // REEYE= 20| 0 - 3 & AR siee if (templll t /B MR HEE
HaEo— B - =2 o I
{ = ( Searcew . Temp[3] = Input:
i ar == -
{ int Besult[4]:
TIMER(TimerPW): // TimerPW A3 E &S
} for (int 1 = 0; 1 < 4; i++)
Tlae I
Besult[i] = Temp[i]:
StartPW = clock(): Temp[i] = -1:
! }
}f ( RlarmFW == ctrue ) // ] S5E £5 &J[zkt] HESE 28 PagswordSave (Result);  // IH4~%E HE
fDr {int i = 0; 1 < 4; i++) return 1:
Temp[i] = -1; }
| 1
} return 1; if { BAlarmPW == true ) // YUEH)| ET= FL FJ|F
. - = {
- _ o L2 ST HE HOD
Tlﬂe if {TE]I'IP["J] 1 :' -"r-"r |:|J'I'l|-:~|_ A._;'IH._D' HlME =T fc:-r {iﬂt— l _ |-_-|: 1 £ 4: i++:|
Temp[0] = Input; t T i1 = —1=
return 1; empli] = '
y 1
elae if ( Temp[l] == -1 ) // ZASI EHIHZH0] HRE E2 !
I return -1;
Temp[1l] = Input; :

return 1;

0id
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/

vold PasawordSetup(ints Returned,

{

int Input = Input_I:

if { Input »= 0 && Input <= 9 ) // QIEHE= 2| 0 ~ 9

{

PasswordSetup |

ints Activated, bocls TimerFW,

TimerEW = true; // FWEHOIH ==

if ( ZlarmPFW I == true )
{

int* Temp 5, int Input I, bool AlarmEFW _I)

0 HEH SRS 22 ZVIENHD HEsE 2E

for (int 1 = 0; 1 < 4; i++)

{
Temp S5[i] = -1
}

Returned = 1;

1

elae if { Temp S[0] == -1} // LAZTZH HEWIH HITE &
{
Temp S5[0] = Input:
Eeturned = 1;
}
elae if ( Temp S[1] == -1 ) // LASZZH SHIIZH HSHE &

{
Temp 5[1] = Input;
Beturned = 1;

jo

elae

else if { Temp 5[2] == -1 ) // LAEZ HH

{

Temp _5[2] = Imput;

Returned = 1;

}

else if { Temp 5[3] = -1 ) //

{

o2
=
0
r
=
L

Temp 5[3] = Input;
Letivated = 1;

for {(int i

{

Oy 1 < 47 i+4)

Temp S[i] = -1;

}

Returned = 1;

if { AlarmPW I == true ) JioaE 232
{

for (int 1 = 07 1 < 47 i++)

{

Temp_S[i] = -1;

}
1
Beturned = -1;

MZH0I HIZS
W20 "HIZES
22 ZJ|&

0
{0

0
{0
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{

3tatic int Temp[4] = {-1, -1, -1, -1}:

int Input = NumberButtonReceiver(true);

if { Input »>= 0 && Input <= 9 ) J/ YHHLE= ZJt
{
if { ARlarmNB == true )
{

A" ERIE EF 2)Ektd HESE

for (int 1 = 0; 1 < 47 i++)
{
Temp[i] = -1:

|

*Result = NULL;

return;
}
else if { Temp[0] == -1 ) // LANZZH HBRQZH0| HIFE 222
{

Temp[0] = Input:

*Result = NULL;

return;
}
elae if ( Temp[l] == -1 ) // YANZSZF EEZH HTHE E=
{

Temp[l] = Input;

*Reault = NULL;

return;
}
else if ( Temp[2] == -1 ) /7 LASZF QB2 HISHE 22
{

Temp[2] = Input;

*Result = NULL;

returny

NumberRecord()

v:iﬂ HumberBecord (int** Result)

glae if

{

{ Temp([3] == -1 ) // YA

0kl

ZF LISIEH0l HISE

o

Temp[3] = Input;

for (int 1 = 0; i < 4; i++) /7 W) LANEEE HA
{
* (*Result+i) = Temp[i]l:
Temp[i] = -1;
1
return;
1
}
glae
{
if ( RlarmNB == true ) // 20| SHE B2 =)=
{
for (int 1 = 0; 1 < 4; i++)
{
Temp[i] = -1;
}
}
*Besult = NULL;
}

0
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NumberRecord()

!

vold NumberRecord({ints Returned, int* Temp 5, int Input I, kool RlarmNE T) else if { Temp S[3] == -1 ) // YAMSIF LTI HITS
[ {
int Input = Input_I; Temp S5[3] = Input:
if { Imput >= 0 s& Input <= 9 ) // YHYZ G0l 0 ~ 3 & B2 [ ztEE 4 =AE LFE EH 2ARE
{
if { AlarmNB I == true ) A0 HE ERE 2R ZJERHD HESsE gE for (int i = 0; i < 4; i++) /7 ®HI) LA=EEE HA
{ {
for (int 1 =0; 1 « 4; i++) Temp 5[i] = -1;
{ ] B
Temp_5[1] = -1; Returned = 1; // 4E 2H HIet HASEE drE
} }
Beturned = -1; 1
} ) glae
else if ( Temp S[0] == -1 ) // ASZt HHWZH0| HITE 2= I
{ if { AlarmNB I == true ) fOYHE EEE A2 2D
Temp 5[0] = Input: I
| Returned = -1; for (int i = 0: i € 4; i+4)
CF P = {
?lse if { Temp S[1] == -1 ) // EHAMES EHZH0 HSE 2% Temp 5[i] = -1:
Temp 5[1] = Input: ) J
Eet d =-1;
} Stusne Returned = -1;
else if ( Temp S[2] == -1 ) // ZAIZZ HHWZI0 HIZE 22 } }
{
Temp 5[2] = Input:
Beturned = -1;

=i
[0
Hal



InputFilter(

int ImputFilter (bool pw, int ag_I)

{
if | PowerStatus == true } // YT ZJ|S7F OF G =0 BEH =IF|HE0F b=

if [ pw == false )

return -1;

}

if { ag == -1 )
{
return MNumberButtonlnput;

}

else

{

return -1:

if (sq = -1) [/ EJIMEH(sq = -1) MM MqDIA 25
sq = sq_T; // MMOIA 233ts UE

InputData[l] = ClosedSensorlInput;
ClosedSensorlnput = -1
InputData[l] = ManuallockInput;
MamualLockInput = -1;
InputData[2] = EKeyInput: lae
EeyInput = -1; {
InputDatal[3] = HumberButtonlnput; }
HumberButtonlnput = -1

InputData[4] = Coverlnput; return InputData[ag]:

CoverInput = -1; 1

18



InputFilter()

volid InputFilter{inte Returned, int* InputData 3, inte 3g 5, bools Power3tatus_ 5, int* Input I, ints 3qg_I)
{

if ( PowerStatus S == true ) A EEEMNEE 2 EM RIEE BEA =TI EDE HhE
{
if { 8353 == -1 )
{
Returned = Input I[3];
1
glae
{
Returned = -1;
1
1
elze
{
if ( 39 5 = -1) A6 ZNE (sg == -1)HIMBF JIM2I]

{
sq 5 = ag_I; [0 MRS SsiEhE 2E

for (int 1 = 0; 1 < 5; i++) 7/ MAMOIS =-%H
{
InputData 5[0] = Input I[0]:

InputData S5[1] = Input I[1]:
InputData 5[2] = Input I[2];
InputData S5[3] = Input I[3];
InputData S5[4] = Input I[4];

}

glas

{

3q_3 aq_I;
}

Returned = InputData_ 3[sqg_3]:
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EDLS_UTC_000_000()

void EDLS_UTC_000_000 ()
{

A =
int Returned = -1;

[ A

int InputData 5[5] = {-1, -1, -1, -1, -1}:
int 3g 5 = -1;

bool PowerStatus 5 = falae;

=
int sg I = 07
int Inmput I[3] = {0, 1, 2, 3, 4}:

£ 2!

int Returned E = 0;

int InputData E[53] = {0, 1, 2, 3, 4}:
int 3gq E = 0;

A HIAE 2
InputFilter (Returned, InputData 5, 3gq 5, PowerStatus 3, Imput I, =3g I):
Azgertion("EDL3 UTC 000 000", Returned, InputData 5, 3g_ 5, Returned E, InputData E, =3g E):

1 20




EDLS_UTC_017_000()

void EDLS UTC_017_000()
{

[ EE )
int Saved[4] = [-1, -1, -1, -1}:

=1
bool Power3tatus 5 = true;
bool TimerPW 5 = true;

==
int Imput I[4] = {3, 5, 7, E}:

£ JITHEY

int Saved E[4] = {3, 53, 7, &}:
bool PowerStatus E = falae;
bool TimerPW E = false;

f0HAE Zt

PagawordSave (Saved, PowerStatus 5, TimerPW 5, Input I);
Azgzertion("EDLS UIC 017 000", Sawved, PowerStatus 5, TimerPW 5, S5aved E, PowerStatus E, TimerPW E);
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